GS2MA-23

Cairay : Combined Civil Services
Examination : Examination —I

[Group — I Services]

Main Written Examination

LITL_LD . General Studies
Subject : [PAPER-1I]
Gsiray prer 01.08.2023

Date of Examination :

Booklet Serial No. :

Cairay : Combined Civil Services
Examination : Examination —I

[Group — I Services]

Main Written Examination

LImL LD : General Studies
Subject : [PAPER - 1I]
Ggifay prar - 01.08.2022

Date of Examination :

Register No. :

Signature of the candidate with date.

Certificate

I have issued this booklet to this
candidate after verifying his / her register
No., photo and signature in the hall ticket.

Signature of the Invigilator with date.

Certificate

(To be signed after the completion of the exam.)

I have struck out all the unanswered
blank spaces in the question-cum-answer
booklet by using black colour pen which I
have used for writings the answers.

Signature of the candidate with date.




Qung) sifle

GENERAL STUDIES
ST — 11
PAPER-1I
&Te) jere] : eperm wenfl Crrb Qs wubuerser : 250
Duration : 3 Hours Total Marks : 250

(@Qeucllarm-cllenL_sgmer Qsn@iiLy 64 usstsmands: Qsram(Rerers))
(This question-cum answer booklet consists of 64 pages)

Neyengsear/Instructions

(Epssan. Mlearsamer eflament iLGTTTgEeT seunroe Werunn Geuem(RLd)
(Candidates shall comply with the following instructions)

1. dewewriiugnyiser, @euellam-aleLssrdr  Csrgliy  Qurssd 64 LsshS®ETS
Qarem(ereng eramens (Pl 2md Cgug Csmarer Couamhib. @s50smErded gGseab
@apumgpller, oL anqunrs Ceum  GsmEleu Gsieys seamsmentiumerfib  Gamll
CQupms Csmerer Couem(HIb.

Candidates shall first ensure that this question-cum-answer booklet contains 64 pages.
In case of any defect found in this booklet, they can request for replacement from the
invigilator immediately.

2. galeurm alameihEh saissaiuns el eageushbsar QLD @& (HeTerg).
cllarentiiugmyiger gelCeaimm elammailh@n e welss @gsstul L @Lidad L HGw
e weflss  Ceauamrhibd. ol wellss eassiul L @QLsSDE GeuelCu  eranguyb
T(PSHHTnL_TG).

Space has been provided to write the answer for each question. Candidates have to
answer the questions only in the space provided for that question. They should not write
anything outside the space provided.

3. eNlerenTiLgTyiTEeT cllenmggmafler ecuGleum(m fleafgyd SifleymiSsLILIL (HeTer
cramaniisamsulorar alamsseEnsE WLLHGL e wealss CeuamrBbd. sHE@& WOevswmen
cranTemtiGansulloorer eSlarmas @@ e wealssmed, geubleumm Gflafer (pgeiad Wenswmer

craranflEanasuller ellenLwelldasliLl Lae samssled eT(Hdgs0sTeTaTiLL DTL L Tg].

Candidates should answer the number of questions as instructed in the question paper
in each section. If more than the required number of questions are answered, the
additional questions answered in excess at the end of each section will not be taken into
account.

4.  Qeicdamm-ailen s Gam@lbd edeamssdr WO wHmb WEde eugeukEseid o ¢Tere.
Simansg @emsailad @ ndeo eugeild griul BeraraneiCu (pigairarame.

In this question-cum-answer booklet, questions are in Tamil and English versions. In all
matters, English version is final.
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Mamenriugmyiser @bs odamm-ele, s Csr@luldmhg ahss srevaryd SHfsgeH &

ol Mg).

Candidates should not tear off any leaves from this question-cum-answer booklet.

@5Csitanel QUTMISSEUMT, HLPSTE 6T(PFIUSDHESTEED, eT(psgILIbapuilenidl er(pgieushHaTaa|b
Sewng HICLETEET gISsLILLelldena.

There i1s no reservation of marks for neatness of writing and correctness of spelling in
respect of this examination.

NeTarTILISTITSET Hlaslb euarsed Curern ellamsseEnsad elewellsgh Curips shisens)
QuuwaengCuim, uSQeuameareTGur  eT(WsdamLTg. shserg Guwfld  asQumiusleyb
Sigidluflereney. <S{GLGUTD TGy cllaTmé g (erh s (S, udleais@baum(pg Nerréasetleh
@GSO Herer Quwim whmib peeuflawCu Liweru s Coue(HIb.

darmsseiled Quuwir, @aeufl gdwees @GOlLGL UL elldemaCueaid, ‘atiybr,
Qumip™ psaufseaies < @, @ Dbag e QU @QF g e &6 erédav GLimemn
Qurgil Quwirgener I HGW er(psCoaiaTHIb.
Candidates should not write their name, register number while answering letter writing
type questions. Affixing signature in their name is also not permitted. To answer such
questions, the name & address given in the questions alone should be used.

If no name is given in the questions, they should write the general names like
ABC or XYZ or XXX in ‘From’ and ‘To’ addresses.
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UNIT —1
Wfley — =
SECTION — A
&Hlly : 1) gabar elamaineh 150 Qemha@réeE Wamwe oflenlwaflssaLb.
Note : Answer not exceeding 150 words each.

i)  geaeaurm alamalbeEh uss wHIGAUETSET.
Each question carries ten marks.

1) Qem@ssuuPeer  gHH  clamssale amaCueaybd BTG
eflanés(Ené@ W (H b eflenwelldsaib.
Answer any four questions out of five questions.

(4 % 10 = 40)

What were the proposals in the Government of India Act, 1935 regarding an All-
India Federation?
eSSl sl Lol Gamijurer  @nSw  grsE  siLd, 1935 @ 2 eTer

(peirQomLflesser eTedTsar?

How far do you agree that there was a 'drain of wealth from India?

@ndurallsn 'Cead G’ QHhoHms HhsT 6he IamasE eULS6CsTsTaiasT?

. What do you understand by the Non-Aligned Movement? To what extent was
Nehru successful.

IewlICanr @usssdlr eypeld Briser ererer UAhglOasmstdiser? Cumm 6he 6T6sHE
Q@eumn) @uDHmTT.

. What is the Khilafat Movement? What impact did it have on Gandhian Politics?
ST @QIUSSLD eTeTmTe) 6T6oTear? STHEIL YTFlLedled g eTeiTer STHSSHMS THLHSSHILG?

. Discuss the factors for the emergence of Indian National Movement. How it gave
direction to the freedom struggle?

@rsu  Caflu Qussn GCorarmausnstar  smesflsameart U  alandlss. &shaT
Cumm_Ls8nE @&l ety auflsm iglig)?



10.

Gifle) — <

SECTION — B
Gy : 1) geauQeur(m alamailpeo 250 AerpaEnéE Wamwe oflawaflsse,ib.
Note : Answer not exceeding 250 words each.

1) ealaurm alamalbaEn uflamanbg wHUGuETEET.
Each question carries fifteen marks.
1) Qsr@ssiul(Herer  @bS dlammssefler aamaCuayd BreNEG
el amés(@péds@ 1o (HId aflent wieflsasayib.
Answer any four questions out of five questions.
(4 x 15 = 60)

Discuss the steps taken by Government of India to preserve its cultural Heritage.

sor&emy urmuufluSms UTEISTES QK& & dhiss bLealpsmesst unnl aflaurdss

Is it correct to say that if the Brahmo Samaj represented the reformist trend the
Arya Samaj represented the revivalist trend?

Gmbn - sormn  FHEWmSSL Cursmsl ITEHHSSMILGSSILG 6TaTmTed 9yl STl
unwefEl Cursemal UiTSifldsanruOsHiug eearm Gameeaig sflum?

Evaluate the role of India in access and resource management about support of
Syria and Turkey earthquake disaster.

Siflur  womid  FIHES usu CuTflseTar g STmeIl UDMl  9EDISHM LHMID  eleT
Guosuremaremioufled @hdlumellsor Lkiens LSIN(HS.

Explain how Moovalur Ramamirtham Ammaiyar Higher Education Assurance
scheme promote gender equality. Discuss Various Initiatives for Women
Empowerment in Tamilnadu

epeUTT TILMAFSL  oemowry 2 wiswel o mid &b umdlear FuSSnGmS eTalamn|
CuiuhSgIHng arumg allars@Es. SUlET e Gusmast gdlsmuafliugnsmsr LGN
undsst upml elleurSss.

What is the root cause of war between Russia and Ukraine? Discuss its impact
upon the nations of the world with special reference to India.

TeLTeIN@GL 2 Soras@n @l uflorear GUT(HSE e STrewrd Tersr? @ESlLmeneail
upplie Aniys GHLULeT 2 o8 Brhisefls 9 gear sTéssSmel unml ellarsss.
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UNIT — 1T
fley — =
SECTION — A
&l : 1) geublaump allenmeill Db 150 QerhaErd@ WEMW® allant waflsseayib.
Note : Answer not exceeding 150 words each.

1) gaGenm aflameil e LgsEH wHICUETSET.
Each question carries ten marks.
1) Gaer@ssiuul_Berer ghFH  cHamssefla amaCuayld BTG
lammésEnéEE W (Hib aflaLwefllEseib.
Answer any four questions out of five questions.
(4 x10=40)

Critically analyse the merits and demerits of public-private partnership model
in the provision of health care services to the poor in India
@ndurealls FmpsEnsE SHTSMT GCamaugsmer alpmiGands GLTg-gefliumy &L L TeTemLo

Lrglifluilesr meTemLoseT MM Semsemst aflofser FHurs uGlumie| Cals.

“The rate of growth of population was lower in all major south Indian states
compared to the all-India average” Analyse the various social and economic
factors growth of population in Southern States.

"gmearsg @S sgrefiyLear  @UUIELEUTS  IEmaTsg PSS GgsmeflbSiu
wrflenisaflaln wsstsTms aamiedl alldgn Gomnaurs @mheg" Oger wmomgs s
w&STOGTmS auemiESFulleor LG Feps wLOMID GUTHETTSTT SMTemllsamer LELLMi6]
C&ils.

Are Indian slums characterized by a 'Culture of Poverty? Substantiate your
answer with examples.

Y)W Garflasm 'sumyemLoulear SHOTESTTSHSIT60 sumaLIL(HSSLILI(hSlsTmenreur ?

2_SMTEITHISEHL60T 2 HIS6T Ldlme 2 MSILHSSIS.

Examine the role of Non-Governmental Organisations (N.G.Os.) for the rural
development in Tamilnadu.

sUlpEM g6 Symoiym asmiéAulle gyre emm Hnearbissfsr (N.G.Os) ukimne gy rmis.

Critically evaluate the success of the Sexual Harassment at Workplace Act -
2013, in protecting women from sexual harassment at workplace

uewflil Sl Limedley GieTLMISSed @\Eg OustTaememl UTGISTLILS  LiswfluflSled
umedlied glerLmiSHe0 gL - 2013 @eor CQeumnenw eflofaer FHwurs wHINHS



16.

17.

18.

19.

Wfley — <
SECTION — B
GOy : 1) @euleaum efleanmalh@o 250 AemhaEhsE@ WMo aflenLweailsseb.
Note : Answer not exceeding 250 words each.
i)  eauleurm elamailh@b uHemanbg WHLIQUERTEET.
Each question carries fifteen marks.
i) Qesr@ssuul_(heter  gbSI aamssailedy  eaTewauCuend BTG
e e (Eh&E WL (HID eflen_waflsseayid.
Answer any four questions out of five questions.
(4 x 15 =60)

How do sanitation conditions differ between rural and urban areas in India, and
what are the consequences of poor sanitation in Context with Evaluate the
Swachh Bharath Mission

@nhéurailsy FmoliLmhigsEh&EL HSILILNKISEHSEL @G i HlmaemLsaT sTaem)
ComubhSleormerr, GCurswmer ssremreHear  almarasComm(  CaisHg  Gmismnw  UTTS
@WsSsSMSILD LSHLSNDHS

Examine successful strategies implemented in Tamil Nadu to tackle illiteracy and
promote education among its population.

soafluafsremwsmwug  surafllugn@, wssSsafloLtu  soafomwu  GCuLOSSISHELD
SUIPEM 196 GEwLGSSILL L CaummlsTiorear o SH&meT oI,

Discuss the problems of youth in India and give a framework for promoting their
'well-being.

@ngwmalsy 2 6msm  @merEpisaflar  UlfFmensemet  unml  elleundlsgl,  eursseiler
'Bevsumpsmel GLDLIHSSIISHSTET 6 QI(PmNMILS S[Hs ClST(HImSET.

Compulsory primary education to all children upto the age of 14 is necessary
for Socio-economic progress of Indian society. Argue in favour or against
@Rl sepssHar sens-Gurmemary arCarmmssing 14 auug susmmuilomsr gjmerss)s
GUHMSSHERHGSLID SLLTL Y Tinus sl gnidlun. g sTamstar aHrmscar arshe.

20.Discuss the various Judicial pronouncements related to the rights of sexual

minorities in India.
@ngwumalsy  uredlwed  mumsreniouilearflear 2 flemwaer G mLfumer  uGm FHSamn
grtysemers unml efleurdss.



Qg — 111

UNIT — 111
Gfley — =
SECTION — A
Goluy : i) geubaum eflammeilpeo 150 AemhaEnsE Wamwe oflenl_wefldaeyb.
Note : Answer not exceeding 150 words each.

1)  geaubleurm ellameiln@n USE WHUCUGRTSET.
Each question carries ten marks.

1) OQerhéesuul erar  apeng  alamssele  eamaCuaid Grear®
aflenméa(eré@ L HIb el waflsseyib.
Answer any two questions out of three questions.

(2 x 10 = 20)

21. In a certain office, a page is typed by A in 4 minutes. The same page is typed
by B, C and D in 5, 6 and 10 minutes respectively.

a) What is the average time to complete one page?
b) How many pages do you expect to be typed in one day comprising 8

working hours?

R0 GHIILL 9anssd, e ussn 4 Hill_kisafld A g sl e QeuiubhHng. 96
LGS (PomGw 5, 6 wnmid 10 Hiflkisaflsd B, C whmid D g slL&s GaiwiuGEng.

3|) QB UsSSMS (Ylp&s sraif ChID eTeiTen?

31) 8 wenfll Crr Coausmen Crrmes Qaman e Hraflh TosmaT USSHST S L &6 Qi
GeusoT(hILd 6T6aTN) ETEITLIMT SN S6iT ?
22.

a) The price of a book is 320. The shopkeeper first increases the price by 10%
and then gives a discount of 10%. Then what is the new price of the book?
Q@ Ussss5sr allme 320. soLssmy el 10% el 2 wisd), Kng 10%
SeTEHLL SHSMMT. LTI LSS5SSS6T LSl aflsney sTerer?

b) Evaluate the difference between simple interest and compound interest for
an amount of Rs 10,000/- for 2 years at the rate of 5%

5% etetrm elHGS5HN 2 omrHiSERsE emumi 10,000/-ssmear sefl o lp&Gn sl ()
Il le&@GLD 2 6Tem elGHUTESMS LSINHS.



23.

24,

a)

b)

a)

b)

The profit earned by selling an article for Rs. 968 is equal to the loss incurred
when the same article is sold for Rs. 712. What should be the selling price
for making 30% profit?

@ GQurmenear alHuS6T eyl SHeml Sz erud em. 968 96s Qummenst em. 7125
aflnewturg gou@b @uise &won. 30% omun FQeusnstear aflbusmer  allsme
6TEOTEUTOUTS @)(h&5& Goustor(hid?

The ratio of the incomes of A and B is 3: 4 and ratio of their expenditures is
5: 7. If each of them saves Rs. 1,000, find the incomes of both.

A vpmib B @eir sugpuomsriisafler efldlgn 3: 4 womid geuiseflsr Gasuafermigefls
afl&ls 5: 7. gemeu epeuGeumsarmiid er. em. 1,000, @ meaurflstr eugpLomarSmas gevorLnliuaL.

Afley — <
SECTION — B
GOy : 1) galaurm eflamaing b 250 GerpsErsd Wsmoe oflanl wallssaid.
Note : Answer not exceeding 250 words each.

1)  galaunm dameilpeh uflamabg LHLICLETEET.
Each question carries fiffeen marks.

) Gsrt@ssiul_(Harer apesm ailanmssefia  ereneuCuweayd EreRr®H
eflenmaa(@pdE W HIb eflenwefléaeyb.
Answer any two questions out of three questions.

(2x15=30)

The population in a city increases by 3% every year. If it has a population
of 5,30,450 in 2006, what was it in 2004?

R hEISSN wEsT gmms aaltlamm g arhn 3% 9dsféssng. 2006 @b
5,30,450 wsast Ggmems @\musme, 2004 @l 98 eTeorerT?

The time taken by A to finish a piece of work is twice the time taken by B
and thrice the time taken by C if all the three work together, it will be
completed in 2 days. How many days does B alone require completing that
work?

8@ Gousmavemil (&8 A TH&EL Crrn B sTh&Ew Crrsms ol @rer(h L migL, C
TG Crrsms il eystm LWLKIEGLW cpsrmid Caimgl Coume Gaiigmn 2 mrsefls

WigeusoLwjid. B &@ wl @ rEsmer BTl seT ghg GColmesmiul (Ple&s Geustor(hid?



25. A cylinder of 32 cm height and 18 cm base radius is filled with sand. The cylinder
is emptied in the ground and a conical heap of sand is formed. If the height of
the conical heap is 24 cm, find the diameter of the heap.

32 Q&1 2 wmb wmmid 18 el gpeliuemL gumb Glemster_ &edlsvarij wesreomed HIFLLLLGSMS).
Sledlevor SHevmuiley Smedlume), snib| elgal Loewored Gl 2 HaurdHngl. & 10Us G alluedlesr
2 wnd 24 Q. eresfle, Gellwedler il L Hemss seuorLMliLie|L.

26.From the top of a tower of 30 m height, a man is watching the base of a tree at
an angle of depression measuring 30. Evaluate the distance between the tree
and the tower.
30 1 2 wippster e CamUTSSHlstr 2 FHulled @\MHHESI, (W LeflS6T Q@ LTSS LGSl
30 gjsraysitar srpaumer CamemTsdle LTFSSMTsT. LFISSNEGLL CamrsSnEL @G o sTar
gMr&mg LHINIHS.
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